01417168 Engineering Mathematics I

= [V [ 61 =
wWUUNNKA ﬂ’]‘iﬂ’]i)%ﬂ%ﬁﬂaﬂ‘[ﬂﬂﬂ‘iﬂl’lﬂ

52 62 & ~ e
12991 — uar — e z 1 JuwWsnouaed x uas y
OX oy

1.1 X* -3y’ +xyz—-2=0

12 In(x+2)+xy’+z=1

1.3 ye*-5sin3z=3z

1.4 eYcosyz—e”sinxz+2=0

15 X2y +3y‘e” —2ycos(xyz) + X7 + 2% = X% + 2
1.6 cos(xyz) =1+ x*y* +z°
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21 Z—xy+yz+y’-2=0 M3a (L,11)

22 sin(x+y)+sin(y+2z)+sin(x+2) =0 e (7,7,7)
23 xe’+ye’+2Inx-2-3In2=0 ‘ﬁlfg@ @ In2,In3)
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3.1 X% +3y*zw? — 2ysin(xy + zw) + yz*" + WP =’

32 x2+5' —2win(x+yz)+ x*y*z'w++/z = X°y® —3wz
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